XYZ,,=86.78 ,90.0 , 74.24
A=25@-a,)Y
B=258,(b-by) Y
a=agg [(x-xc)y]
b=byo[2/}]
ay=1,byg=-0,4
Xo = 0 000 B. = 1,000
n=

B Parame-
100

ter: N

CAB [A 28712

Name & Spektralbereich Cn
R 561 770 ¥, 520_770
Gm 475 573 G, 380_561
By 380 520 M, 573475 By
G, 520_570 M 570_520

8 von maximalem (m)Cyg fur D50

10 Optimalfarben (0), Yy 1090, Yy 1~3.6

~100 max: 495_770

G 520_570 M 570_520

8 von maximalem (m)C,g fur D50

10 Optimalfarben (0), Yy 1090, Yy,1~3.6

XYZ,=86.78 ,90.0 , 74.24 B Parame-
A=25@-a,)Y ter: Y
B=25B.(b-by) Y

a=ag [(x-X)ly]

b =byg [2/M

a0=100=-04 52@ @ 41

X = o ooo B, = 1,000 42 A
n= 1 APS0 1
Chas, _[A 248712 50 | ;17 100
Name & Spektralbereich 48 O @37

Ry 561_770 Y, 520 _770 13

Gm 475_573 G, 380_561

Bm 380 520 M, 573 475 21

—100 max: 495_770

Name & Spektralbereich Cn
R 561 770 ¥, 520_770
Gm 475 573 G, 380 561
By 380 520 M, 573475 B
G, 520_570 M 570_520

10 Optimalfarben (0), Yy 1090, Yy 1~3.6

8 von maximalem (m)Cpg fur D50
in Buntwertdiagram (A;, By)

—100 max: 495_770
min: 380_495

Name & Spektralbereich 48
R 561_770 ¥, 520 770
Gm 475573 G, 380_561
B 380 520 M, 573 475
G, 520_570 M 570_520

10 Optimalfarben (0), Yy 10=90, Yy,1~3.6

8 von maximalem (m)Cpg fur D50

in Buntwertdiagram (A,, B)

in Buntwertdiagramm (A, B) min: 380_495 in Buntwertdiagramm (A, B) min: 380_495
egw41-5a enh31-5n egw41-6a enh31-6n

XYZ,,=86.78 ,90.0 , 74.24 By Parame- XYZ,=86.78 ,90.0 , 74.24 B> Parame-
Ar=25@;-a;)Y T 100 ter: N Ay=25@-a) Y T 100 ter: Y
B1=25Bc(by-by )Y By=25B¢ (b —byp) Y

ay = ago [(X-xo)/Y] A = ago [(X-Xo)Y] 76 68

by =y [2/Y] b =g [2Y] 1

ay0= 1,by0= 0,4 Rn a50= 1,byp= 0,4 52

X =0,110B; = 1,000 Ay X =0,110B = 1,000

n=D50 + n=D50

Cag,1=[A+BT 100 Cag ~[A+BA?

—100 max: 495_770
min: 380_495
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